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SECTION -1
CHILD PSYCHOLOGY & DEVELOPMENT PEDAGOGY,

TEACHING LEARNING PROCESS
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3.

ch of these tests did McClelland
first use to measure the need for

achievement ?
(A) Bayley Scales
(B) Wechsler Adult Intelligence Scale

(C) Minnesota Multiphasi '
Personality Test" Q B
9) Thematic Appen% /sy

a @
Accordiﬁ Rogers, human
valionds b

B! ed oﬂg&gﬁ to

) " express one’s sexuality and
S ones sexuallly &
gggressive nature
/QB’)/’I/- actualize and enhance the selt
; ¥ h"__.__,"_f’_”‘

through experiences

findingﬁia‘gi_ng in life

strive for affection and approval

©
D)

from others

According to Bruner’s theory of
cognitive development, the iconic
'stage is concerned with

(A) language deﬁo?ment —
(B) . use of visual images o~
understand the world
(C) use of action to understand the
_world
(B) symbolism in the understanding

of world
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(© foard = vEw
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According to Guilford, divergent

~ thinking requires

(A) one selution

(B) arithmetic rensoninTg .

éc):':/ﬂ;:lmcy of ideas
. 7

(D) i ol (D) categorisation
Frfafea AR fawm Dgd-wiraems | 5. All of the following are :hz:racleristics
sy 71 fadwans § e - of the pre-operational stage of
(A) TR sa Ream development except
(B) W& A Eﬁ,’ ii{;m:?mg?t wservati
O s (q - bzn:h i :ki:ggo conservation
(D) | TN SEER D, problem solving behaviour
T 7 S o g wEEa R | 6. The language acquisition device was
mar? proposed by.
(A) =R (A) Piaget
(B) #X (B) Bruner
(C) wmEer (© Kohlgs~
(D) =SmEE | @),Ehomsky
L
I?ﬂﬁa saur =1 fagi fFed g wwfEa | 7. The theory of selective attention was
fersn 1 2 GL proposed by
(A) dfcrs (A) Selfridge,
(B) #RW (B) Bruner
© weE= (O Broadbent
(D) e \_+"" (@) Tolman



B - A% wwin (amzn) forat sfamm e

S e oA 2 -
() i uwia (smem)
(B) et g & e
(©) ol et &R w1

8. Those items that are mos! likely o be
'fpfgqucn are those:

- L (A)" ilems that are concrote.
{B) atthe beginning of a long list.

(D Al the middle of 2 lqngjist:"'

(D) Tt =i < s 4 (D) et the end of 3 lgay; Tist,
- . |
0. frermid & dfx & wlzw & spem, |Y Atcording lx s madel of
fieferfan % Sram we & 7 i Whi e o
(A) 9fs 2mwa & o §, 5 5 ifence is & function of
P N — ericnce, nof ol genetic
(B) i forde wesrs & e g € A
®l | intelligenice consists of a specific
ot it o n wwm & set ol fraits that can be classified
D) intelligenee is s unitary
charactorintic
intellipenco I a function of
conlents X Sonbexls
0 10, The repeated presemation of C5
wizhaus the UICS resulls in
A spomianecus rcovery
. B b
© fawiy (Er  estisction
(D) T wHm s h (Y higher osdes amditioning
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11. &, =, firery, wrar iR faad (1939) 3
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(A) +H™
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©
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(B) WitIfer sieng] it Hem =9
(© gy fean & =1 +1 wem s 2
(D) oS o dd e fom =

. WA & STER, Tl it s i fh
A A AR Ry o wa §, 90 39 &
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(A) =HfRT STHTA

(B) Hfe e

© =

(D) g =

11.
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13.

Doob, Dollard, Miller, Mowrer and
Sears (1939) suggested that all
aggressive acts are caused by

(A) anger

(B)
©

(D)~ Tustration

tension

stress

A frequency distribution will often

approacly the normal distribution as

(&) the number of scores included
gets very large

(B) the number of scores included
gets very small

(©) -more variables are included in

" the frequency distribution

(D) certain scores are eliminated

from the distribution

According te Freud, memories and
drives thatcan be easily recalled but
are not within consciousness at the
moment are in the

(A)
(B)

(©) unconscious

(D) ~preconscious

personal unconscious

collective unconscious
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14. Because the id seeks to gratify its

desires without delay, it operates on
the
(A) satisfaction principle.

e

_ABY pleasure principle.

(D) super ego.

The most efficient methiod of spaced

practice in a motor task varies which

af the following two features ?

{A) Typeoftaskand lungth of stiady

(B) Repetition and skill complexity

(© Lengthk of practice peringd and
T sk complexity

(DL~Length of practice perd end

lungth of rest peried

Which of the following psychologists
Places special ermphasis on Uie need for
pusitive repard and the neegd for solf
regard ?

f_."'l.-)_ Maslaw

(B} - Rogers

C)  Adler

(0} Sheldon

| 5120,
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behavioural modification

The
technique which wuses repeated
exposure to aversive stimuli or
disturbing scenes to extinguish the
emotional responses associated with
those stimuli is

W systematic desensitization

V(B)/implosive therapy

(©) reciprocal inhibition
(D)

token economy systemn

Alfred Binet is famous for

develaping the first

(A) adult intelligence test
(B) projective test

(C) fixed alternative test

@) chid intelligence test

The law of effect is concerned with the

effects of

(A) hormones in behaviour

‘B) internal drive states on behaviour

(C) ~réwards and punishnients on
behaviour

activity states on behaviogr



20. Tl st forred (1959) % wefdle fiean B | 20 Harlow and Zimmerman (1959)
H1EY wedl e res 4 =3 R, demonstrated that female monkeys
(B) = S o {A)~Could nat display maternal

| - T ttachment.
© o s s A )
B) killed their offspring,.
o | _ (C) displayed infant like behaviour
(D) FEA S G i —
Fesh AD) I.;ecame ovemtlachud to their oll
 spring.

21, frefeien ﬁ'ﬁm“ﬁlmm'ﬂﬂ%ﬁ 21, Of the following tests, the most
wedt mi wia e g =G o A s suitable. for determining the 1Q of
Ty § ? mnel 12-yeae plds is the;

) WAL A wals
) WIS P B WISC
! (C) Wrpsi
(€) WPPSL
(I3) -Bayley scates
(D) & e .

22. it oo 9@ ocanamE o 8 | 220 Theskinner boy is nsed for the sty of
(A)  sifr argEve ” {N)  torward conditening
(B) ST SpEe (B) ’fl_nsuz':.i!'co_m!iti;mmg

e ey AT Dpurant comditlaning
(©) = gy L I &
©) wp— . () sweond' ooduer conditioning
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2. mﬁ"‘iﬁ'ﬁ T — 23, | Material in long term memory
) Ta b S .~ (A) may be lost if the pgrsf)n is
| ' interrupted while retrieving it
A baaahaadiod (B) is hypothesised to involve
(B) e e ¥ o e ongoing electrical processes in
A H forga whward 3t 0 f the brain rather than changes in
HiTes iy # ufedy the brain cells,
(©) T sf e e e /(C} includes all memory that is not
T8 ’ fgrrently active.
D) may include information that
®) =& IR gt ¥ S weh| - never passed t’h;oug}‘: short term
S w7 e
24, HfE Wam B wa § — 24. Intelligence test measures :
(A) ST Ay 4 @) innate ability
B) freaEs (B)- -*"}ﬁwrmance
S
© Hhafrr ww (©) educational leve]
D) (A) =R (B)3 AD)  Both(A) and (B)
25. el T 2% ST AR e e | 05 According to Carl Rogers, the
Ravfag ? structure of personality is based on
(A) 1% 3 e (A) ego and super ego |
B) sl { }.- organism and self "
IR T © :cz:::::;:s and  collective
(D) e AR A %&rioﬁty and superiority
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26. Second order conditioning is an
important phenemenon because il
demonsirates huw an originally
neutral CS can assume propertics of -
(A) first order conditianing

x(_ﬁ)_ instrumental stimuli

C)~areinforeer

-

< (D)2 positive reward

27, ‘The theory that we all experionce a

5

series of developmental crise
theoughout dur lives was proposed by
(A) Freud

(E)

(<)

- E

Adler
Sheldon
Eri‘:y.n’
8. ftem anuiysis is cssuntiol oo fesy
comistruction becausy
A& it provides feedback, pp the

wflectiveness of the tesy

(BY it providus for veliabilite jn the
lest,

) itprovides fus validity i te test,

(D) it provides for the constrie

validity in the test.

| £1.0,



29, T TR g S T st

F HFT AR H T FE 8 W Ea
WY, /e —

(A8) et Sia fafwemn
(B) T wATaTH SR &= fagia
(C) wAfavaw

(D) WheT WS fafwen

29. The psychological point of view which
emphasises unconscious motivation as
factor in human behaviour is
(A) Client centered therapy

}B)j Gestalt psychology and ficld
theory

Q) Psychoanalysis

-

|~

(D) Rational Emotive therapy

30. "= @i fage =) Mfewa fFa¥ e | 30 The morality of self-accepted
wiearfea feman wan — principles was proposed by

(A) = \_'J'(A) Piaget
(B) wEE (B) Freud
© A (©) Frikson
(D) e

(D) Kohiberg
-7

b




- ~ SECTION-H
GENERAL AWARENESS & ENVIRONMENTAL STUDIES
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35. g Ed = e R @ wefh faan

™ ? '
(A) 1 R

(B) TIvmEd TR

© T TR

(D) aﬁ?w?ﬂimw

36. @m:a%anunmwﬁwmaiq—m

WE?

(A) 12sf

(B) - 108}

© 74t

O) FHAFE 7

37. W i gar - U F v J I
STt & 2

S -

© =™
D) sl

38. ferret waw & fren et # yeey wa
37T 91 2
(A) 4 37,1906
(B) 4 31,1905
(© 19,1975
(D) 265Fd,2001

J-1902-B

=]

Is

- feward ?

35. Suman Rawat is awarded by which
— (A} /Arjuna  Award
(B) Dronacharya Award

© Parshuram Award

O)— Ax]una Award md@

36. WhatisIndia’s rank on the basis of arca
in the world ?
A 12th
(B) 10th

el

(D) None of these

37. The bark of which tree is used as

medicine of malaria ?

5

(B) Baheda
(©) Neem
(D) Walnut

38.  When did earthquake occur in district
Kangra of Himachal Pradesh ?
(A) 4 April, 1906 |
o /B 4 April, 1905 \ (7
9 January, 1975

D) 26 January, 2001

[14]
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33, The birth plice of Gury Nanak Dev |
{4) Lumbinl
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40, Who bs the writer of “Jumgle Book” ?
. [ Rudyard Kipling|

! . s
(B V.D.Savarkuer 3
(O Valentin Shiirol
(D) Viloram Seth
4l How many degrees does the earil
rotd inan Boue on s own sxis ?
TV
_ A,
o £
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O @wl [
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45.

"R W e ety ¥7?
(A) =

(B) =T

© fre=m

(D) iR

wrrer At e g o 2
(A) 2T, 1984
(B) 2f<mmr, 1975
© 16,1986

D) FHARE T

fien 7 ol Fea 2
(A) TR

(B) =

© Tw

(D) Fewfd

J-1902-B

44, The prayers of Rigveda are known

AS.crainannes .

&) Suk

(B) Bhakti -
(C) Ratnavali l-‘ \
(D) Chhand

45. 'Kesar Saga’ is the holy book of

_/(A)" Japan

(B) Iraq

|

(D) Afghanistan

46. When did Bhopal Gas Tragedy

occur ? -

_(A) 2 December, 1@
(B) 2 December, 1975

(©) 16 April, 1986 ?\’L
(D) None of these

47.  Which planet is known as Blue Planet?

(A) Mars

famm)

(©) Venus
(D) Jupiter

[16]
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52, HEE U I N FE G ?
(A) 22 3ERER, 1946
(B) 24 SRS, 1945
(C©) 24fwm=R, 1945
(D) 217, 1946

53. oo wifeg —

(8)  (2) = (@), (b)— (i), (c) - (i)
(B) (a)— (iii), (b) - (i), (c) - (ii)

/(GJ’ () — (i), (b) — (i), () - (i)
() T A

54. W1 I o T S T Siom el Wi
B d?
/@)Wwv/
(B) T
© W
D) T E FE T

52. When was UNO established ?
v (A) 22 October, 1946

—(By 24 October, 1945} "
- 'M
ﬂ 24 December, 1945

(D) 21 November, 1946

53. Match the followings :

State Sanctuary
(a) Assam }i) Jim Corbett
(b) Gujrat \/‘ (if) ManasKaziranga

(¢) UttarakHand (iii) Gir

LA
(&) (2) = (@) (b)~ (i), (c) - (iti)
®) @G, ()~ @), () - Gi)

.\/Eﬁﬁa’ = (ii), (b) = Gi), (&) - (i) \

(D) None of these

54. Where is the food of the seed stored
until the plant is not formed ?
_/E‘(A) 3
®) \ 77
©
(D)

Cotyledon

Radicle
Plumule

None of these

[18]
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35,7 Which place iw the world reglsten the

higl:u! rainfall ¥
(A} Silchar
(B Churrapunjl
[ O Mawsyrvam |
(T Guwahati
56 How muchares of [he covth susiaco
mvun-d wﬂll svaley J

) Y
B 2
A

0]  None ol s

57 Wiich 1= ihe Largess duensy in the

wigrld?

Pm i AETE ol
T TP desert

() 15 thmeest

ALY Kajabherd Sesot '

e

. —

rel

I
B WWhich calmu i U s s Hanwyoator on
map I
(A)  Cirae
1 Whim
(25 Vualey

SS9 W e tue STt Tediad Syt s
climb ihye Moung Fyegmer
| T8) —Bachandn itd 7
1B) Junlie Tako
(O, Wasbgamn Chasvla

|:]'i] Ko 1 these
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60. FrRAE W A PH-w HideA g f@n | 60, Which movement was started by

a? Sunderlal Bahuguna !

(A) =TE0 s (A) Dandra Movement

(B) @ sideR (B) Jhugga Movement 7. ‘.)
© fawm aEes / ?L.) Ehipkn Movement ‘, o
(0) e e ' )

(D) Pajhota Movement "%
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6. R e & e F o 2.3 8@
T it A arum ¥ —
(A) 2:3
(B) 3:2
© 4:9
D) 9:4

=1 % e el s —
(A)
(B)
©
D)

35°, 55°
25°,75°
27°,53°

% 15, 14, 19, 20, 14, 15, 16, 14, 15,
18,14, 19, 15,17, 15 &1 9ge & —

(A) 14 .
® 15

© 16

O) 17

67. a7 % weii sl omand 1080 &,
THH STHA & —
(A) 50v2 &
(B) 5092
(©) 100 &2
(D) T A 7E

T

J-1902-B

130°, 50° e

IS
QAL If the ratio of the radii of two circles is
2:3, then the ratio of their circumferences

is g m})—

B) 3:2 =7 7T -
© 4:9

D) 9:4 v

65. A pair of complementary angles is

(A) 130°, 500

(B 3555 ) /
© 25,75 U\{’,H
(D) 27,53 -

66. Mode of the data lg 14, 19, 20 14, 15
16,14,15,18, 14, 19,13,17, B5is

(A) 14
12

© 16
D) 17

67. Each diagonal of a 'Squareis10cm long

then its area is éf e
(A) 5042 cm? Zl’n"_', ot
N ! t
B 50 cn | -y
[,

(© 100 cm?
(D) None of these
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“ in a class passed an
72. 75% of students in a
72. T e % 75% Teentdat % wdian gt

faraneft //exam. 1f 2 more students had passed
2 3 RAALER L § the exam, 80% would have been

ferendt W 219, A e # o fereneff ¥ successful, then total mumbex: of
ts in the class are s
mw L\ ggw o 7T
- - ' ’!1 6 " ‘l’,
© 6 v T L (c) o 3}( ~£“}},ch &
© 7 50/ @ 70 B

}1
73. T gl #, PA =12 0., BQ=14|73. In the given figure, PA = 12 c¢m,

T TWMCR = 16 5. T BQ=14 cmand CR = 16 cm.

B | N 76 L
APQR %1 S5%d & — Area of APQR is : P L
g :, ““-.\': J |
(A) 3362 Fm EINEYY
= 2 W ey
(B) a1z ® et 7 Y
© 48432 Q Bt DR
(D) 5293w APy SWemt 1 -
74, & IUAEHR WA 1 9@y i;- e, %) 74 -—Thé}erimeter of a rectangular field is
, , | g
e G T, at e W o 3 km. If the length of the field is thrice
& A SRR & F1 Ao (2 3) ¥ — its width then the area of the
(A) 30000 rectangular field (in m?) is
(B) 3000 ‘ 200230/ I
90000 ) | 2
© o000 © 90000 4
©) (D) 9000
J-1902-B
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78. cos15° HIHM & —

V341

(A)

Y

(B)

d

of

©

s

)

o

79. wi‘zk,zk-lamzmmwmim it &

T T W E R kA —
(A) 2
B) 3
© -3
D) 5

Tzﬂilsoﬁr.ﬁwﬁsﬁr@tﬁmm
a@wmmwmw%:%
AFRH G (R H) ¥ -

(A) 5043

B) 15043

© 1502

©) 75

J-1902-B

78. The value of cos 15° is

~ 'S

ahﬁ5~lﬂ)

Wi D) «ii -3

J3=1 o A 4S5 uASwB
®) ZJE (;;:s VES (",v:}hc‘ + Simli§ 9,
- N \
B4l 12 s 5
(C) JE 2 2= ’1- F{
T2 (53419
o
Vi-1 s i 4 =
©) 2 n? Tl
% | ki

79. If k, 2k -1 and 2k + 1 are three

b consecutive terms of an Arithmetic

Progression then the valye of kis

\
TN
\ T A
(A) 2 Y e v v
- o= K 1?‘*" \ /
O3] w
(c) -3 (._3)’(-!‘ \J‘:’/‘i’
St A SR
(D) 5 Il — 2 Ryl N
K)o 72

-
80" The angle of depression of a car parked

on the road from the top 0fa150 m high
tower is 30°. The distance of the car

from the tower (m mqtreg) is

(A) 5043

[26]
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(A4, &) B-

(A) $J2

AT
i
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() 1041

B2 e 1 s g e s e

£,

J-1902-8

et e s O g
v b
(A 2l
) ;—r-ﬂ-’f
4

(! -i;Jrh't

() =k

509 100 75 41 Y it v e,
T ) 37 i L8 =

(A} 53,6373

B 63,735,563

@ 53,639

) 53738

BL A chiord of @ cirele of mtius U coo

W dublends 4 right angle ar tis centre.

The length of the chord (in cm) i

Nl

B2 (7%

; = __‘_r‘__ .
). 102 { L Y
(ST L

, E T e

© & = 7 Bd

-_‘.]— -
o s -
J-'I -I‘I II I
82 U the diameseg of the base of a v+
1 cireutae cplinden i eqqust (o i beight
I, then lin whole Sitclace ated 1
(A sl
|
(U
L i - II -
-
© =N
:1 B I
L =is

B0, Theswsr ptrmie sttaetivery bty ecsiiy S0 axul
JIRE ety ot Lt |1 of Hheores 1
W 23D
() BTN
_l'iﬁ"j 5 i,
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84, W DA 6-3FTE T S 83 A yoiean

84. The least six-digit number gvl}ich is
o 7/

s g, = ¥ - _exactly divisible by 83 is :
(A) 100015 <177 m <V eee] g ;(,
(B) 100005 @) 100005 G\ B,
© 100051 © 10081 \\\ 13 \-f)
(D) 100068 () 100068 é\Q) s o
85. MHfd H, ABC UH 4™ ¥1 ZABD F1[85. In the figure, ABC is a triangle. -
| (feait ) % — Measure of ZABD (in degrees) is ;
D
119°
B 18° c
(A) 57
(B). 61°
Q
(D) &0
86. 0.0016 1 Iiqe & —
(A) 0.04
(B) 0.004
(© 04 © 04 456 @?r
D) TTHAPE TR (D) None of these =
r0
J-1902-B [28] X oy /



87, 5**‘%*%*%11“!# §7 Thavatiseof hT'EJF:E-L::“ LE
, if‘ﬂbna-r "--111
(A) 6167 ) 5167 ety ':.
(B) 6021 0y 6 -“';1;1 '
© ey = . L
D) &1z f'._.ﬂ?}‘-"ii_llll- ] R
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v -
g Y3nse Jone 256 wIEEE- The value of Y324 2p = y256 1o
W zfﬁf'n_! -3
{6y 21 {20
@ @ @
By 41 &) #
89. ufx W 30 . vl ARyl 100 A, FR) BI. L braly 30w by, e 4
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7 ey atein § — Vs, ks o el 34 SN
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SECTION - IV |
PHYSICS AND CHEMISTRY

91. ¥RF=i fFawFRU A AA §?
(A) =fveta faurr fear @
() Twmafw e a
(© whiwta fawsa fman @

(D) TREHEA & woi A

T i W IR T aEge #1 W [
w2 AR A
FA T W B A —
(A)
(B)
©
©)

+05D
-05D
+02D
-02D

feu e, T, e sir ST A3 E-m
Tra & fion gr wed warer e éfa g
®?

(A) @

(B) &

(© item

91. Solar energy is due to
(A) Nuclear Fission reaction UL@

(B) Chemical reaction
(9/ Nuclear Fusion reactior
D)~ Burning of hydrocarbon

92. A person can not distinctly see objects

ty O

N | kept beyond 2 m. This defect can be
corrected by using a lens of power
Ifr;g;; +05D.~

(®) -05p" | ‘
© +02D+" \
© -02D

r\’;
.

Py

)

LI |
1

93. Outofred, green, blue or violet, which
colour deviates the most in a glass
prism ? 4

! 3
I
B ke S ek

(B) Green
(©) Blue

(D) i

J-1902-B
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(A) %Wl A dmcreas By 2%
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@ 1% (YO mercaies by 19
() 1%9E (D) adecmases b 1
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9B. T feiamr gver § v@ & — 9. 1 m has number of joule

(A) 36x10°S[& B 36x10°]

(B) 3.6x10°3@ ~  (B) 3.6x10°] VARPR B

© 36x10°ga © 36x10) . b

(D) 3.6 x10¢ 5@ t‘ @) 36x10° q

99. f’@lﬁaﬁ < <itw Tavarm 3 wwe fean Wential difference between two
S g ? \_ ' points is =
W < \A W il = F_ \.\ o

=— V=—sr 2L

(B) Q=vw (B) Q=vw - Y VB N
_X _=_V_ \‘ ' (ALI:,,

© W-Q © w 3 f_[.‘

D) ¥ & = =& |

(D) None of these \,:L

-

100. ?ﬂaamﬁﬁmmum 209,100

100. Three resistances 20 0,10 Q and 2 O
dR20%, aﬁmmﬁﬁh@mﬁr

_° are connected in paralle], 'I‘hcxr

IHEH WY T 8 — equivalent is: SN Vo
(A) 20 30 () 200 - Ty \
(B) .23m B) 20 \J\u\ LI
© 1555 AOTsta ) U0
@ 1.22:%m R R R NN
et
101. wa-fefa wary & g i g — [ 101, Equation for position-time relation js -
= (A v=u+ar
(A) D=1+ al . A() V=u+g ) ‘/5 .
(B) s=ul+ Ve LCB) s‘=ut-b///zatz} \'\‘ 1]0
e
© -1=20s © vt~ u= g :
©O) T A FE 7

(D) None of these

J-1902-B [32]
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e s Wby | Bt exbaast
(A) i (T g J
(8 18] Mergary
- &
© lt'j Coppoe T_ﬂ\_)
() &esfirm (i) Cordamum
100 FAN e A 6.2 108, ‘Momumttum bs n mygiig of
i _ W Wi 0?
(8) wEwE 1B M \J
Qe Ak ) hiip angyfar
(M an
A0, Tl A e du-ae we R A R YUl Ty il b
w1 B weley e & = TGN S tiin cegimesiith

AL Ninlhu-_tlll.h' :I'
J':}—'Uﬁiﬂu—m—d
) et B

108, =% - B QT WD JUE IO el B AL UL bl
AT EEE] T oAl LI i Tl M
( Bty Al ™ -

(B) 10 kym ° NP8 |

(€ 108kgm * 10k

{D‘] 108 = I Koy JI:I TR i
J[D,' AT T oy e d

-
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106. ¥Rt 1 i 1.5 ¥ wewrwr =1 T
i 7 2t —
(A) 2x10°m/s
(B) 3x10°m/s
© 25x10°m/s
(D) 35x10°m/s

107. 3R F, T iR V %9w1: =91, gg aiw am
w1 3ifEa B E N w=mmE Mo f‘aﬁfcr
R —

(4) [FTV]
(B) [F'TV]
© [F'T7
D) [FTV]

108. A WRw & 3 § ST H e &

—

e

J-1902-B

106.Diefractive index of glass is 1.5. The
speed of light in glass is

@5 2 % 108 m/s

(B) 3x10°m/s/

@' 25x 10 m/s
(D) 35x10*m/s

107: I F, T and V denotes force, time and

velocity respectively then the

dimensional formula for mass is

\&)/ﬁfrv—llj - _‘t'.‘.:-"\""
®) [FTV] T’ oy
© w7
O FTV] N\ 4
Two vectors A and B are

perpendicular if

(A) A+B=0
(B) A-B=0

/(E'{)/ |Kx§l=0,r

[34]
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o) e e D] Nome od thesc
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113. =iy fave S o1 78 & =i siR
i F1 §, 38 FEa § —
(A) W
(B) =
© s
(D) ufesw

114, v-feor some gva § —

(A) =R AT e

(B) vd A ufrwm =Y sin

(O WA= oir

(D) =i | S =y 3R

115. 9 o7 | =it =1 8 iemr a6t §2
(A) T =T TEE

(B) Y=

(©) g =YY (Air friction)

(D) ==
R Wiadg =t U a) 1 ufe w9 fesdi

sl T § SN fewdt @ w3
ST | 3% 39 HESE e Wiy R

116.

J-1802-B

~J

113. The heavenly bodies that revolve
around their respective planets are
called
(A) Stars
(B) Constellations

(O Satellite,
Asteroids

S5
[

114. The sense of rotation of geostationary
OLJ&Etellite is : ,
\(A)"' West to casq
(B) East to west CA
(©) North to south
(D) South to north

ot

115. Rain drops are spherical due to :
“ (A) Viscosity of water

(B) Surface tens@

ft! ’-:—‘
A
(© Airfriction %

(D) Continuous evaporation

116. A piece of wire of resistance R is cut
into five equal parts are then connected
in parallel. If the equivalent resistance
of this combination is R', then the

R _/
ratio — " is: N
A L |- - g Y
A) .25 73 |
1 L
(B)’ 3 '
v

[36]
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121. W& WA # 7.5 feneimm $vm wiemn < §
airt 39@ 60,000 FreinE S0 39 Bt
¥ 3Rk fum = <% Yol e T A @
e =1 ST T T4 7 ?

(A) 8000 ferei@

(B) 8000 fereiisie wia ferairam
(© 8000 = fercimg@

(D) 10,000 fFeinE

122, mmﬁaﬁmﬁm(ﬂ)%mﬁﬁ

Teparit < gt 2

(A) 4

(B) 16

© 6.022x10

(D) 2.409 x 10%

(=0

FATRIET QIIHTT 61 9RET | & 2
(A) 35°CH42°C

(B) 0°CH100°C

© 0°CH120°C

(D) -10°CE110°C

123.

faews s Bt & —
(A) FERERITH
(B) WEMASH
© =wd

124.

121, In an experiment, the combustion of

'>C7.-5 kg of a fuel produces 60,000 KJ of
heat. If the combustion is complete then

the calorific value of the fuel is

MDUUKJ | L“)“i
(BY BO00K] per kg| o
/ |2 % ‘{ ) =1 e . C
(C) 8000 square KJ
/(D) 10,000 KJ ]’ /(m o
¢ U\ = _
122. How many atoms of/j hycd o en (H) are

present in 16 grams of methane ?

\

Ih‘

Y

7 S
(B) 16 (M
© 6.022x108
(D) 2409 x 10% SCL
‘_/“—'
123. What is the range of laboratory
tlhfzr\rnoﬁ‘\eter?

(A 35°Cto42°C
(B} (°Cto100°C
(© 0°Cto120°C

(Q"— 10° C to 110° E)

124. Silk'is made up of
(A) Carbohydrates \_1 \-
(B)- Proteins
(© Fats

(D) = Q7 &

J-1902-B

D)

None of these

[38]
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125. Th maximemruniber of electrors that
e ¥ syl o an ko can acgomodnte
bl
3 2
o Ay
(L) \ﬁﬂ

120, Oaut ot tie folluwing which wilphs

the misimm ?

(A) 224 Mres ol CO, 2t N T, P
,{u}'-“a.ﬂzz I0F malegulies of CD"

(O BUZZ = TP mnma b cazbon

() iﬂ'gm[m ol earbondioxide fEU.;:l

127 o pany vertizalioolunmms hre frrean
in Modwrn Pedtadie Tabie which me
terinact ou roups T
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129. oo 1t Aifedt =1 3 & frgd W ot
&7
(A) =ERd
(B) =hiemR
© =mimIy
(D) TR
130. =i =t fefern % form wa w el ors
STl S %, 9% 9 Bt 1 | feww
= B § 2
(A) S FIEPRE |
(B) wid 3R et wrEpRE & fisor §
C) T FRERE |
(D) 9 AR T FEHRH & Tz

131. TSR Weerge 1 8 ¥ g wa 8 wadm
foran s &2

(A) faswmswud

B) Frewmw HwgH

©) WRIYs & w9 H

(D) 9= |t w41

132, T hte E fopman sa am e —
(A) 20 fh=mm™

(B) 2000 faefiam

(© 0.0000002 fAeirTH

(D) 200 freium

J-1902-B

[40]

129. Naphthalene balls are obtained from
Yhich of the following ?

A7) Coal
(C) Coal gas
(D) Petrol

130. The rough area of matchbox against
o~ _which the matchstick is rubbed to
ignite, is coated with :
(A) red phosphorus”

_.C(E)/ﬁijxture of powdered glass an
\ \“"ured—phospﬁb”r‘u y
(©) white phosphorus ”'

(D) mixture of powdered glass and
white phosphorus

131. Hydrogen peroxide is used as which
N of the following ?

/(B)/ Disinfectant

{C)~ Antiseptic

As a bleaching agent

- f;A_l_l of the above
— -

_“‘-__‘__

132’. One carat of diamond is equal to
7 (A) 20mg
. /(B) 2000 mg

p{__:n‘ ___‘! - r{
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{A) 31xim
(B 6022 » 102
©
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al et

134, iR fell ey & K ) ety Sty

it o ﬂmwﬂmn’l'ﬂw
it ~
(A) #
{8 1w il
© n K
(D) 14

135. T B &N 8 pa e )
awds m e B A S fe g 6
e T b

13, Fow iy atemms of Hellim (He) are
. present m 108 a7

(A) 3twioe

(B lilﬂﬁhlﬂ"

o (TR ]

N | ;
- ]
il W -

M I the K and L sholls of sn stom o

cogirplet=ly Gl then the snimber of
eloctrans [n Uy At ank
(Al B
G) w ) .
- J, IFr __.l
{CI'__TT - -
iy 18 -

135 Llnnu i obtaihed from Lishen pane

Tigher, ples belipyes 1o which grorp
_nm_c:llullmwng'l'

(A e [ AA) Nryophya |
Wy Frced ®  Cymmerpam
© & © gl
o) ¥ &= O} Nore of he Mo
36 IFei sl i owa Tewmne g & |13 H?ﬁ:{rfhlnikmunawaﬂj_uug.ﬁ#:
w2 ity
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137. faafe wi-6 (B,) =1 Tamafim m 3 —
(A) omEfe
(B) VR
©) urlismm
(D) Uoifds s

138. M fes =R (Form weram = 2 )

aﬁ%maﬂqmﬁmmﬁj@

QT Wt &2
(A) “emze
(B) 2wl
© Herr
(D) icfiem
139, 319 =9l & SR AoHEH H WIHOR
e difie A viaffa S w2
(A) CaCO,¥:H,0
(B) CaCO,2H,0
© CasO

(D) Ca(OH),

-

140, =1 719 for webl & o1 S waesiter
(9T Wil i) & e | wifga fieg
A E?

(A) IR ITawh
(B) FIRGS T
© weFe Imh
(D) WTHES HTEH

J-1902-B

— N

&7. The chemical name of vitamin B, is :
” "{A) Thiamine”

'(B)/ Riboflavin

(O " Pyridoxiney- P

(D) Ascorbic acid ¢
(' -

1
138. The surface of non-stick utensils is
coated with which polymer ?
(A) Bakelite
(B) Teflon -
(©) Melamine é ?
(D) Polythene 4 ¢/

139. Due to acid rain, the marble of Taj
~ Mahal is converting into which of the

following compounds ?

(A) CaCO,¥HO P
B) CaCO,.2H,0 \
| CasO.¥ | é/ b

Ca(OH),

140. Which type of ores are concentrated by
v froth flotation process ?
| (A) Oxide ores
(B) Chloride ores
€) Sulphate ores
_ (D) Sulphide ords
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B, Natural rubber is 5 polymer of

(A laoprone”
) Neopren
() Methane
D) Bursoa

Nt
- I'_."l—
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142, What bs the JUTAL nuttee of

" HEOO-CH, MCH(CO Y CH, L OOH
(N}
4
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144. fam it ¥eit | o @ = vl it
184
(A) Tom = erg=e |/ 990 & fog
(B) T 3 qwH § == ¥ femu
(€ o= = damw | 99n & fou
(D) THIADR T

|

145, Fdll a9 =1 AV §& 120 ¥ 1 39 T

# AR g, W T W (IUPAC) M =1 | -

B ?

(A) IFEEFHfEEn

(B) SFRTMeEs

© s

(D) SFERHEE
146. et (fasg 31 & 99 i W EHTT
a1 B & | SH HA-W 37 B € 2

L

(A) FETEE T
(B) faeftw avr
(€ RAETEE A

144. For what reason nitrogen gas is filled
" in chips packets ?
(A)
(BY
©

(D)

To prevent reduction of chips
To prevent oxidation of chips

To prevent corrosion of chips

None of these é [7
=D

f

145, The atamic number of an element is
120. What is its IUPAC name 7

40

_(A) Unbinilium
(B)

©

Ununnilium

Unnilium

Unbiunjum

D)

-

146. The Béh-like stinging needles on the
- nettle leaf contain

(A) Ethanoic acid 7"/ /

(B) Citric acid A

M
(C)-~ Methanoic acid

(D) rifers 37

J-1902-B

(D) Oxalic acid
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150. 3T T =Tt Sef=nfal < aftemi w &4 | 150. The dress of fire-fighters is coated with
T Y T TG S S S I rfid | which polymer to make it fire resistant?

I § 2 (A) Bakelite
(A) SherEe (B) Teflon




